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4% + 16x

40x° + 227%° — 114x — 216

8x° + 64x

8x% — 64x

X —2x> —29x+ 30

Jun: ATLLUU:

X — 10x° + 13x — 36

36x° + 95x% — 69x — 90

X+ 16x° + 77x + 98

2% + 4x

X+ 158 + 62x + 72
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4% + 16x
4x(x + 4)

40x> + 227x% — 114x — 216
(5x+ 4)(x+ 6)(8x—9)

8x° + 64x
8x(x+ 8)

8x° — 64x
8x(x— 8)

X = 2% —29x + 30
(x— DEx+5)(x—06)

[

UN: ATLLUU:

¥ —10x + 13x— 36
(x— 92 —x+4)

36x° + 95x% — 69x — 90
(4x + 3)(x + 3)(9x — 10)

X+ 16x° + 77x + 98
(c+ N+ 2)(x+ 7)

2% + 4x
2x(x+ 2)

X+ 158 + 62x + 72
(c+ 2)(x+ 4)(x+ 9)
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